Examples
1. This document provides examples of the transactions relevant to deriving imports as defined in the energy accounts from imports as defined in the energy balance.


2. Using the nomenclature contained in the diagram in “Imports_Exports – Energy balance”, the imports to country A from country B can be defined as:

Imports (EBA) = B1A1 + B1B2 + A2A1 + A2B2

3. To derive the energy accounts imports from the energy balance imports:
Imports (EAA) = Imports (EB) + B2A1 + B12 + B2A2 –

      B1B2 - A2A1 - A2B2 

4. Examples of the six adjustments required are as follows:

a) B2A1 – a mining services company from a developed country (B) provides in-country specialist technical advisory services to a local mining company in a developing country (A) over a 6 – 9 month period to enable exploitation by the local company of a rich mineral resource from a challenging environment.  The advisory services are the B1A1 transaction.
b) B12 – a simple example of this transaction is a purchase of energy by visiting tourists and business men from country A while visiting country B.
c) B2A2 – although theoretically possible, it is difficult to imagine in practice in any significant way.

d) B1B2 – an energy exploration company from a developed country (A) provides technical services to an energy company in a developing country (B) over a 6 – 9 month period.  Payment for these services is in the form of energy products, which a transported back to country A. The transportation of these energy products is the transaction B1B2.
e) A2A1 - although theoretically possible, it is difficult to imagine in practice in any significant way.

f) A2B2 - a mining services company from a developed country (B) provides in-country services to a local mining company in a developing country (A) over a 6 – 9 month period.  To do this, the mining services company operates a non-resident company physically in country A and imports (in an energy balance context) technical equipment from country B to undertake the in-country services.  The importation of the technical equipment is the transaction A2B2.
5. The above examples a), d) and f) may appear contrived or insignificant for large, developed countries.  However, in developing countries where individual projects can have a significant impact and the legal status of transactions can be influenced by the benefits generated for a small group of individuals, such examples would be more realistic.
